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. Please make sure that the printed pages in the question paper
are 10 in number and it contains 30 questions.
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The Code No. on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

° ﬁwﬁmmwﬂmwmﬁuﬁmmﬁwmt
Before beginning to answer a question, its Serial Number must
be written.
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Don't leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the
point and do not strike the written answer.
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Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have _bee_n
supplied the correct and complete question paper, no claim In
this regard, will be entertained after examination.
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GENERAL INSTRUCTIONS: -

* Question no. 1 to 15 are objective type questions carrying 1 mark
each.

* Question no. 16 to 21 are Very Short type questions carrying 2 marks
each.

= Question no. 22 to 27 are Short type questions carrying 3 marks each.

* Question no. 28 to 30 are Long answer type questions (with internal
choice in all three questions) carrying 5 marks each.
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OBJECTIVE TYPE QUESTIONS
(1 MARK EACH)

e 1 weg R A o fea sigsal gl 87

) 216 E) 202
M) 203 ") 206
How many bones are there in human body?
a) 216 b) 202
c) 203 d) 206

e 2 9¢ AR Na R gRIe 3 vuT 87
®) H-T &) faisita
M) A HS ) HEMRd

a) Ramayan b) Gitanjali
c) Anand Math  d) Mahabratha

In which book is the song Vande Matram published?

............................................................

@) 55% w) 58%
) 78% ") 88%
What is the percentage of nitrogen in air ?
a) 55 % b) 58%
c) 78% d)  88%

..............................................................................................
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..........................................................

(¥ Scanned with OKEN Scanner



r‘ ) AN, a) ﬁ/

M) = &1 g) Swad @il

Which vaccine is given to prevent T.B.?
a) B.C.G. b) Tetnus
c) Vaccine d) All of the above

-------
-------------------
..............................................................................................................................

$) WAl A @) WasH
q) ARg g) wnfrar fet
Which female player is called the flying Angel?
a) Saina Nehwal b) P.T.Usha
c) P.V. Sandhu d) Sania Mirza

i[) 5 A ") 12 9™

How much amount is given in Dronacharya Award?

a)15 Lakhs b) 10 Lakhs
c) 5 Lakhs d 12 Lakhs
o 7 wFE TR A W CE) ] (PT— 2l
............................. is the largest gland of human body.
o 8 wawi, <Aiq, Afac . T faerfis @ 2

......................
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.................................. is called the father of Medical Science.

......................................................................

..............................................

ugT 11 AIDS &1 g1 - faal |

Write the full forms of AIDS.

........................................................................................................
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(a) (A) is right but (R) is wrong

b) (A) is wrong but (R) is right

¢) (A) and (R) both are right but (R) is correct explanation of (A)

d) (A) and (R) both are right and (R) is not correct explanation of (A)

..................................................

.........
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Assertion (A) Diabetes is a harmful disease.
Reason (R) Diabetes is the deterioration of pancreas in the human body.

a) Assertion (A) is correct but Reason (R) is wrong.
b) Assertion (A) is wrong but Reason (R) is correct.

c) Both Assertion (A) and Reason (R) are true and Assertion (A) correctly
explained Reason (R).

d)Both Assertion (A) and Reason (R) are true but Assertion (A) does not
correctly explained Reason (R).
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)Assertion (A) The team which loses the match in a knock out tournament is

liminated from the tournament.
Reason (R) Knock out tournament is consumed less time and money.

) Assertion (A) is correct but Reason (R) is wrong.
b) Assertion (A) is wrong but Reason (R) is correct.

) Both Assertion (A) and Reason (R) are true and Assertion (A) correctly
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lexplained Reason (R).

d)Both Assertion (A) and Reason (R) are true but Assertion (A) does not
correctly explained Reason (R).

VERY SHORT ANSWER TYPE QUESTIONS
(2 MARKS EACH)
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SHORT ANSWER TYPE QUESTIONS
(3 MARKS EACH)
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'LONG ANSWER TYPE QUESTIONS
(5 MARKS EACH)
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